





ke

oJ
oll
nl
71

del ARAY A3

T
g

o

g o2 7]

:,1

B

o

O

i;:l_

op

"ECO

11

o 2015.

)

I
T

o

37} A

. -\lo

) S

<

AN
o X]

Ilr

rel . B

o A%
o

P2

v
h=1

l
714

A

()
T

()
T

o 2021. 10
o 2021. 12
O/\

12 Jls



ofJ

o
o

K1

OIARE

-

K0
or!

OlALRI

RO B0 R M <
| MHdEsrDT

I

i)

I+

gl

= IH30-SIRIHIN <=M+

o1

)

0l
| RIBIRO-RORO<{=8IHZI
| mHEmESaRAIT

I

I | - OFRMSSRED

:

o

ofl

5

81 ramosR®=T

T RJ wr = of @b

ok
0l

Ho

AT

32

29

Rk

94

A

92

48

i

e

orl

CUECoE



i
ol

KF
Bl

I+

Ujo
i u._
e
T -
o & T
. . o 2 4 %
i o | S 2
= - T o | X = 70 N ~ B e N X 5
a0 e - BN F R S
o il GRNES Zlm = < ° oF B oF Jo F
Ao Mo ™ Sk w_m_ o L B oKX O o
AL L= e ZEF IyE x
o B | X g R &)
o i mK T = N = .PAE - % H R B
T8 55 oy Th pE AT ez
T r e d Cl RN =3 =5~ W B 4 o
~ M.L No O U ~ = ﬁ_.T Hin 0 s < ofp oF =K )
Mm oﬂf_ xﬂr m]movmxﬁ ﬂ,.JE,oLﬂL%W/m ﬂu,%mu ._1%_
R Jlﬂ N Huﬂ ﬂ.lﬁ.mw_v ﬂHHT_L_I ,ﬁ_zﬁﬁé T ﬂA_l.a
N ) o Ao K B2 e Mo o e
o ~ = i e i oF Hf Uo B O Y o =
0B X |~ i i wﬂﬂ TP R Ho op N B mmm%i ww %W
8l - N T | WLH m.:._ ™ of B/ jo| olo o zm Y ol 56
i i g e o e 2 =8
wo| © | — oo g Rt R R0 do = = & =5
<) oo A B o
o o> T KO W
= R o
K ﬂb' XO (@p] —
o= | o El a - —
y M_ s | B NS = iy . — - 5
._ ..M. Qﬂ JZIL MAIVL Wﬁ % ,HJL nvw _ _E _ o
f X g 0N %L Jﬂu._ %1_
T Hq X N th X —
- w b S )
o 1 B g S g Jﬁ % <
ﬂaﬁ e o X T T X o
foag ir < N < ~
g
I
i -
o
X




i

XII-

Al X il 83

0 a3 Ald

o F X :21,368m (6,464%)
oA = :F 5 5/ AHEA 20,577m (6,225%)
oE AEY =
2% ATE AT P AP
(9,378 m’) A Al A A ZF LA
517 Afidgel2Hs | AF3EE 4594, 154
Pz
AP (AR S FEFAF AARST Af 24 @
199 7] %A QA E AF A0 A
(11, 199ms) e B S AE 271 A
O F2 |
= 2 Z  H
F AH F 253%, 309tH
A F | B3R ART S 10tH
A 2| ¥H AFE AtES] T 17tH
4 A U F | AAgE B 22t
> F
Al(?éz Agsg;ci)u] 4 @& 7 ¥ | NI T l
o 7l B A A | gaAEr E 191
g 8 x4 A | 10kg =9H97] 5 110
= W A w | ATRZE, "A7AAA 2
E 4 2 4 | AAdEA F 51
A B EA A s s & A | GCMS & 31ty
(134, 141tH) 71 = A @ | PHEAY T 52
¢ A H T | FAERSTT BHAANGY] 7o
WEE A t At Jd | FEH T 7o
(39%, 83t % A | A7), Ae7) T 76t
— 6 —
CUECOSEHRATH




(Etel - M
of A 3} = of Akt | T Am| H| 3
% A 13,022,730 | 100.0%
A 8,391,502 |  64.5%
SRR 2,319,562 | 17.8% | AF&dAre o
4 | e 238000 | 2.0% | AAE 3 ABEH G
% A o] 4,104,990 | 31.5% | ATANT AR
+ [ arzazeo 570,650 | 44% | AEkEE A7EANY 5
o] SRS 10,000 | 0.1% | B5elz o]
Z2AZ50] 950,000 |  7.3% | AEEE, oJikA 2
71 e & 9] 50 178,300 | 14% | o) #el =
A B 2= Q) 32,000 02% | YR ZF Y 5
AR I 4,599,228 | 35.3% | AUE o|¥F
O XIE0ll&t I
of A 3} = of Aty | H| 3
% A 13,022,730 | 100.0%
a A 12,999,730 | 99.8%
AN ST 3954,862 |  30.4% | 2lzvl B A|He Aam)
j AR T ) 8,654,868 | 66.5% | AL Arin]
o | Erggsiug 370,000 2.8% | AFdul ) R g
o W W 20,000 0.1%
2 A 23,000 0.2%
iﬁg B ER 20,000 0.2% | AFE, Wbgr] 5 T
b 635 57 4 8) 3,000 0.0% | BAGA JojnZg W




